AR - Z2HKRKRAZ 33
1 A#L - KR
¥ 75 0 & MEETI Q) ABERHTHEEHET LTBIF 2 RERHEE (BR. &M, B 275, - HB=E
¥ & KN B|RC-1 #3,200m) HRICHS BYME - #BER-1 # 300
A A A H|-BEEEEALL m) BRI B S RIS
A AL B|Ek29% 8H23H B 1T &5 FT|EHFETAEREEH B 17T # | ETe29% 98 2H ~ THI30&F& 3/H15H
” = % i %= 1 BAL %= 2B AR
o e . A& sEm A | EREE . s Rl s | SRS i 5
(BB XITE %) (A) AR &% (B) (A+B) AfLEER (B) (A+B)
ANTEER gn.g
‘(**) Bl R 5 38. 246 5,000,000 [ 1.989 | 40.235 G&AL)
% A ZE-22370001000596
AR ERET (B ¥ i M
s AE-2 2420001006761 7,800, 000 28
S AN SN [, =
(**) %:L.\IZIEX{ED-I-FE 7’500’ 000 %Eiﬁ*ﬁ
ZAZES7011501007229 38
%4 M EF | B CERERETATE (KE)
2 x FE A —
= = T |[LEHRR/NZ&ZKFR3I—11—16
2t & %5 ¥ 5,400,000 (FisA) (¥5,000,000 (Fitk) )

F OE O O ¥ 5,585 166 (Fiid)

(¥5,171,450 (%itk) )

A E KA ¥

i % & H M F 0B A




EH 04T 2 T (29) BB E R TR % i aR i

A AR O ER

PR D PIER

S O FE i i gt -

> N [==/==1 okl == //;‘ ;’\ i = o P . Az P -
é%wﬁi P EROFRRUTE ggg{;@%‘ DR\ Sjion— - T | HFPmomSas | SARHEL 0 i =
N ; R - € O
a b c d=atb+tc 60%(d/e)
BT a AL DB A 55. 00 55. 00 50. 00 160. 00 e

(BR) A M Bl 5 35. 00 35. 00 31.99 101. 99 38. 246
(BR) ¥ 5 3% i 35. 00 20. 00 38. 00 T AT R 1
AR R T (BR) 35. 00 35. 00 35. 32 T AR 3




